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An idealized ammeter is connected to a battery as shown in the figure. Find (a) the reading of
the ammeter, and (b) the current through the 4 £ resistor.
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When switch S is open, the voltmeter of the battery reads “x”. When the switch is closed, the
voltmeter reading drops to “y”, and the ammeter reads “z”. Find the emf, and the circuit
resistance R in terms of x, y and 4
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The region between two concentric conducting spheres with radii “a” and “b” is filled with a

conducting material with resistivity “c”. Show that the resistance between the spheres is given
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What is the potential difference V(a)-V(d)?
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What is the potential difference Vb)-V(d)?
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